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Abstract of the contribution: this paper proposes a key issue for the WT#1.1 of FS_5GSAT_ARCH_Ph3.
1	Discussion
In FS_5GSAT_ARCH_Ph3, the WT#1 proposes to study the regenerative payload generic architecture as following:
WT-1.1: Study and identify any impacts on 5GS and EPS for the scenario with gNB/eNB embedded on the satellite.
For the GEO satellite with gNB/eNB on-board, the location of the gNB/eNB is static comparing with the ground, the access and mobility management of UE using the satellite access can be referred to solutions defined in R17.
Embarking gNB/eNB on-board NGSO satellite implies frequent change of RAN node serving for the UE access, the same scenario has been proposed and key issues was identified in TR23.737. It is proposed to use this key issue as baseline to WT#1.1

2 Proposal
[bookmark: _Hlk513714389]It is proposed to capture the following updates in TR 23.700-29.
[bookmark: _Toc22214902][bookmark: _Toc23254035]5	Key Issues
5.x	Key Issue #X1: <Key Issue Title>RAN mobility with NGSO regenerative-based satellite access
5.X.1	Description
Editor’s note:	This clause provides a description of the key issue.
Embarking RANs on-board moving NGSO satellites implies frequent handovers of RAN node for any given 5GC/EPC, as well as their interconnection through an Xn/X2 interface.
As NGSO satellites coverage spans a large coverage, and can include a significant number of UEs, a large number of UE's could be simultaneously handed over from one RAN node to another one, leading to a group handover of the anchor point be the RAN and the CN.
Under these circumstances, this key issue shall address the following points:
-	What are the conditions for a 5GC/EPC to handover from a RAN node to another RAN node?
-	What are the requirements on the Xn/X2 and on the NG/S1 interfaces to ensure the mobility of the RAN with respect to the 5GC/EPC?
-	What are the functional requirements on the 5GC/EPC and RAN to ensure the mobility of the RAN with respect to the CN?
-	How to paging UE in case of the frequent changing of the RAN node serving for the UE?
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